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QUESTION 1

Which of following is the 5G loV alliance organization?
A. OTSA

B. X.lab

C. 5GAA

D. 3GPP

Correct Answer: C

QUESTION 2

Which of the following is the key 5G capability required by monitoring applications such as connected intelligent infusion
in smart healthcare?

A. Low-power small-packet transmission.
B. Wireless ultra-broadband access.

C. Anytime, anywhere wireless

D. Contiguous coverage

Correct Answer: A

QUESTION 3
Which of the following are disadvantages of using drones on 4G communication networks?
A. Delivering flight control command is slow.

B. The signal strength is dtrong when lower the 120 from the ground but the connection is easily lost when the height
exceeds 120m.

C. The uplink data rate is low.

D. The drone height is not within the mail lobe of the ground station antenna. The air signals are in disarray. There is no
primary coverage cell. Frequent handovers caus significant downlink interference for terminals.

Correct Answer: ABCD

QUESTION 4

Which of the following is not advantage of a thin client in the cloud X service?
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A. Easy deployment and management
B. Efficient storage

C. Mobile

D. Low cost

Correct Answer: B

QUESTION 5

What is minimal air interface latency required in the 5G URLLC application scenario in IMT-2020 vision? SC
A.1ms

B. 10 ms

C.5ms

D. 100 ms

Correct Answer: A

QUESTION 6

Open Trial specification Alliance (OTSA) predominantly promotes the release and application of 28 GHz spectrum.
A. True.

B. False

Correct Answer: A

QUESTION 7

Which of the following items are included in the 5G phase 3 test led by IMT - 2020 (5G) promotion Group?
A. Field test of the NSA architecture.

B. Inter-vendor compatibility test.

C. Indoor test of the SA architecture

D. Field test of the SA architecture

Correct Answer: CD

QUESTION 8
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Which one of the following solutions cannot reduce end -to-end delay?
A. RTT optimization over the air interface

B. using a low latency bearer network

C. control and user plane separation (CUPS) on the core network

D. large-capacity spectrum bandwidth

Correct Answer: D

QUESTION 9

Which of the following technical solutions reduce the 5G delay? _MC
A. Shortening the resource allocation interval

B. Dynamic uplink and down link resources allocation

C. F-FDMA

D. D2D communication

Correct Answer. ABD

QUESTION 10

Which of the following are 5G technologies defined in 3GPP release 15? _MC
A. Massive MIMO

B. Flexible sub-frame structure

C. New mutli-access technology

D. New waveform

Correct Answer: ABCD

QUESTION 11

Which of the following is disadvantage of wired (power Line) AMI Technology?
A. Low Capacity

B. Immature Technology

C. Difficult deployment

D. Unable to traverse transformers
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Correct Answer: C

QUESTION 12

During 5G standardization, which of the following is the SA (standalone) architecture developed in?
A. Phase 2.2

B. Phase 1.1

C. Phase 2.1

D. Phase 1.2

Correct Answer: D

QUESTION 13

In an industrial internet sensors are used to monitor the status. Which one of the following requirement in this case?
A. Low delay

B. Large bandwidth

C. High reliability.

D. Massive connections

Correct Answer: D

QUESTION 14

In the IMT2020 vision, which of the following is correct ratio of 5G service delay to the 4G service delay?
A. 1/50

B. 1/10

C. 1/100

D. 1/20

Correct Answer: A

QUESTION 15
Who is the applicant for the network slicing? -SC

A. Tenant
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B. Subscribe
C. Proprietor
D. User

Correct Answer: A
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